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83-No one exactly knows what led to the of dinosaurs,
1) extinction 2)involvement ~ 3) performance  4) conclusion
84- Don’t —— out of the window while the train is moving,
1) react 2) cross 3) handle 4) lean
85- The outside layer of the Earth is called the :
1) mantle 2) crust 3) crater 4) base
86-1t s often said that rich people give less money to ——.
1) charity 2) audience J)emergency  4) labor
87-When raw materials or foods are they are changed in a suitable manner

for a particular purpose.
I) transferred 2) processed 3) managed 4) stored
88- What you consider as -~ can be recycled to be used again.

) mineral 2) slum 3) trash 4) fuel
89- The meeting is going to be —-—— the Azadi Stadium,
1) held at 2) taken place 3) looked after ~ 4) called out
90-The doctor did everything he could to make sure that his instructions were
followed.

1) strongly 2) possibly 3) recently 4) exactly

 Part C: Cloze Test |
Directions: Questions 91-95 are related to the following passage. |

Read the passage and decide which choice (1), (2), (3), or (4) best fits |
each space, Then mark your answer sheet,

When steam engines and factory machines were invented, they gave people
much more physical power to do things. The development of computers in the
late 20® century has given us greater 91) ———— power. Computers can think
and 92) ——-— things for us, and have changed how we live and work. This
change is sometimes called the “computer revolution.”

The field of computers is a 93) of rapid development. Advances

%) all the time; the change is so rapid 95) the nature of
computers can change mainly in only a few years.

91- 1) mental 2) various 3) global 4) economical

92-1) enter 2) discipline 3) remember 4) repair

93- 1) record 2) scene 3) region 4) feature

94-1) have been made  2) are making 3) are being made  4) will be making

95-1) as 2) which 3) for 4) that
WWW cdsiran,com
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| Part A: Grammar
I Directions: Questions 76-80 are incomplete sentences. Beneath each

| sentence you will see four words or phrases, marked (1), (2), (3), and
(4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet. |

76- Why are you so sad? Is your life really -7

1) bores 2) bored 3) boring 4) 50 bored
17-When people become sick they visit a doctor they can get well,

1) when 2) lthough 3) whether 4) 50 that
78- The test is ~——— difficult to be answered in 15 minutes.

1)s0 2) too 3) very 4 such
79- He said he didn’t need a job because he a better one before.

|} has offered Nhadoffered  3) hasbeen offered 4) had been offered
80- Sara —-—— her car when she was sleepy.

| ) might not drive 2) shouldn't drive

3) shouldn't have driven 4) might not be driving

| Part B: Vocabulary

| Directions: Questions 81-%0 are incomplete sentences. Beneath each

| sentence you will see four words or phrases, marked (1), (2), (3), and |
| (4). Choose the one word or phrase that best completes the sentence. |

Then mark your answer sheet,

81-1've got into the -~ of turning on the TV as soon as I get home.
1) habit 2) aspect 3) experience 4) emotion

§2-1 have been asked to this year’s summer course, but unfortunately I
can't,
|) advise 2) devole 3) organize 4) cause
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Part D: Reading Comprehension
Directions: In this part of the test, you will read a passage. The

passage is followed by five questions. Answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark your answer
sheet.

In the 18" century, long before books, radios and television sets existed, many
people learned a language different from their own. In a world full of printed
and spoken words, today people have a better chance to learn languages. Many
people learm Ilanguages because language is the most wuseful tool for
communication. It lets us think, learn, and share our thoughts and feelings with
others. Moreover, it makes man free from his anger; and finally it is a source of
comfort or delight.

Language is important because it is alive, it grows and changes like a living
organism. Language can influence a single human being or move a million in
one moment.

96- What does paragraph 1 mainly discuss?
1) Different functions of language
2) Modern ways of communication
3) How we can think or feel through language
4) Why there are more printed and spoken words today
97-The word “it” in line 5 refers to >
1) chance 2) language
3) communication 4) learning languages
98- These days people are more likely to learn new languages because -
1) languages have become less complex
2) there are more language learning tools
3) language is changing continuously
4) language was not as important as it is now
99-The word “share” in line 5 is closest in meaning to

1) record 2) design 3) involve 4) communicate
100- The best title for this passage would be:
1) The Source of Language 2) Old and New Languages

3) The Significance of Language 4) Ways of Learning Languages
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